G BANGYE s 2002

THE POWER OF INNOVATION

B4

2018-2019



R BANGYE

| ABOUT US

If you take a look at our logo, you will find that it is composed of two abstract shapes
interacting with each other. It means cooperation as well as two strength: Manufacture
and Innovation.

Just like the meaning of our logo, we hope we can better cooperate with our customers
and can step into a better platform together.

We are a leading manufacturer of die casting, especially in the field of pneumatic
and automotive. Above 90% of the production procedures are done by ourselves,
which makes us different from the other suppliers. With more than 17 years of
OEM experiences, we play a leading role in this area. Our production capacity,
comprehensive services as well as abundant experience enable us to be your best
choice.

Corporate Data

Founded:2002

Registered Capital:

3.5 Million USD

Annual Sales:

13 Million USD

No. Employees:200-220
Location: Shanghai China




| RTFREA

WRIRE BT, RS KIE AR W EASE R ARADL R . B
SRS S ERCA

L0 BANGYE FnfRn, A1 3R aES BATH S - g T A i 5 &4,
LERATAESE R ATl A E TR o

P AT & R, Al e A o itet. H it
90% LA ERY A= LZAE R MIATH S8 MRy, X231 H AR A [F]
HIH T o

P 17 09 OEM &5, A TENR TGRS HZAEH .
FATHIET=REST, ZRA MRTT AN E B LR BA O R B e 1E ¢ o

NEUEE

a7 5 HH 2002 4F
MR 4 2200 J300
AR T -1147C
AAEJERGS - 180-220 A
INEIRbEE P E R

(1]

| - r . ~
E .!"!::!.":!'!!?! g Ig l--_;;:l.i:-:"--% -
' (1HLTERTER O B ot i +

O 0 A A3




RIBANGYE

| OUR SERVICES FOR YOU

We mainly can provide OEM services for our customers according to their specific
requirements.

At Bangye we pride ourselves on being an industry superior supplier of die casting
and high integrity aluminum and zinc alloy die casting and precision machined
components. Besides, in order to better understand the products, we also have
self-owned pneumatic products such as pneumatic cylinders, pneumatic cylinder
mounting parts to satisfy customers’ demands.

DIE CASTING

Owning 9 sets of high pressure cold chamber
die casting machines. All the die casting
machines are with automatic feeders,
spraying systems, fetch robot arms. The alloy
can be aluminum or zinc.

We also can supply the surface treatment like Cleaning, Impregnation, Shot Blasting,
Anodization , Cataphoresis , Coating, Surface Painting



Through more than 17 years of experience, we have learned that only by continuous improving our

services we can increase our reputation among customers.

N—ﬂ

<

MOLD MAKING

Being able to design and produce
aluminum and zinc alloy die casting
mold, plastic injection mold and
gravity casting mold.

CNC MACHINING

OEM CNC Machining. Secondary machining such as
tapping, milling, boring, turning, drilling and threading
are performed according to your specifications.

PNEUMATIC COMPONENTS

Making product assemblies and workshop pre-
assembling is an integrated part of our services.
Assisting customers to make and purchase other parts.



PRODUCTS CATALOGUE
~mB R

ISO15552 Series Covers and Accessories DNG fll DNC Z& 413 25 5 4 P1-11

ISO21287 Series Covers and Accessories ADN Z 41324 S P 13-15
ISO6430 Series Covers and Accessories SC R S P17-25
JIS Series cCovers and Accessories MB il CA2 241335 S P 27-33
ISO6432 Series Covers and Accessories MI il MIC Z515 28 5 P 35-38
MAL Series Covers and Accessories MAL /325 54 P 39-41

Rod End Accessories i JE i P 43-45



PART B 1SO15552 Series

el © SilimEs
e - S



I BANGYE

DNG 32-100 Cylinder Cover

f— 2y
Stlimss
|
(¥, s L Material: ADC12 Die Casting
= A PENE PR ADCI2 4R
1 w g
1 TTENSIE - 8
m - % 2 @0 ]
d
N J.)' O S e, W
W i S
S M
T G

(1)
m—
| |
(1
N

32 47 325 6.5 9.5 225 32 13 19 9% 6 G1/8 6.5 30 36 27 M6*075 95 3
40 3 38 6.3 9.5 225 385 155 2 6 8.5 G 1/4 73 35 405 31 MRS N 33
0 65 485 8.5 125 225 66.5 155 2 75 8.5 G 1/4 6.5 40 43 31 M0 M 33
63 75 36.9 8.5 125 23 69 165 27 73 15 GyB 73 45 46 3 ME0TS 14 4
80 95 72 10.5 155 2 815 18 3 9 135 GiB 75 45 923 36 ME*075 16 4
100 115 89 105 135 26 85 185 36 9.5 135 612 85 % 3 37 Me*075 185 b

DNG 125-320 Cylinder Cover
SRS

R Material: ADC12 Die Casting
o R ADCI2 45555
am
AT T8
@& |

OMM] S T C E H L N F P R 0 (] oD M 6 B U K
125 140 105 123 225 325 005 265 40 10 0 G172 5 60 66. 452 MM 10 b
160 180 140 16.5 26 3 120 255 % 15 15 G 34 7 65 7 0 MI0M 10 6
200 220 175 16.5 26 3 128 255 65 15 15 Gk 8.5 75 7 0 MI0M 25 8
250 210 220 205 325 40 130 30 75 25 25 61 10 90 83 60 MIF1S 2 8

320 350 270 245 37 49 170 30 90 35 3 61 15 110 90 65 MM 25 10




DNC 32-125 Cylinder Cover
Sl

Material: ADC12 Die Casting
BT ADCI2 £R S

LI BANGYE

S 2665108l

D
q
I
1.
N

OMM] S K
3 455 325 65 95 225 51 10 125 18 55 72 G618 55 30 3 Bl METS 4
40 515 38 65 95 225 59 105 145 2 6 75 G4 65 3’45 M MEDTS b
50 645 465 85 15 05 65 15 145 8 85 85 G4 4S5 W 35 96 M5 4
63 755 %5 85 125 7 705 15 185 285 10 1 G3s 2 45 L 34 MEDT5 4
80 935 7 05 155 2% 832 157 18 w127 8 638 1 555 39 MEOT5 4
00 15 89 05 155 2% 872 192 20 B2 N8 0 612 4 55 5 388 M5 4
125 1S 10 125 19 3 06 225 18 ib 8 13 612 40 66 45 MM 4

DNG/DNC 32-100 Cylinder Piston

(EETSESE

_\,ﬁllﬁﬁ

3 E E E Material: ADC12 Die Casting
= oy

N | M: ADCI2 45554

[sa] s} o o 1l 9 I o4 - - 1 L o

[SIRS] Q| Q| [SIRS] Q

b d N

L L
J

O[MM] ([ 6c 6D 3 3 ] J L oH
R 1 8 12 15 YA bz, 78 39 315
40 2 10 16 125 2% 28 82 i 39
50 v 12 20 109 305 305 88 I 9
63 2 12 20 1 31 3 99 195 624
80 0 1 25 155 40 40 ik 555 79
100 30 16 25 175 i 41 V4] 41 99




RIBANGYE

DNG/DNC 125-200 Cylinder Piston

SELEE
|
N
(=] £ E_ - £ Material: ADC12 Die Casting
[
P @ % M ADCT2 455
1
1 N 7
N g8+ —— g8 F84-—1——188
7 : :
(1)
—
I I L
1 N |
w» ) :
0B oc [} E F 6 oM J K L M
0 1 . 185 % Kl 1245 565 109 545 2
140 50 2% 0 2 3 3 1595 625 122 61 15
200 50 2% 0 2% 55 55 199 835 164 82 15
DNG/DNC 250-320 Cylinder Piston
SEDEZE
i _ — Material: ADC12 Die Casting

N\,
7%

M ADCI2 £5E %R

ac

oF
oF
oc
@D
28

Sy

B
2D

AANINNEEN

O[MM] 0B ac 1] E OF 6 H L
250 97 30 30 25 2495 60 80 160
320 78 36 63 Rl 3195 60 90 180




LI BANGYE

DNG 32-100 CB Female Clevis
E [

|
e Material: ADC12 Die Casting s
16 548 1
//’\ XXX {}\ &E | I *ZUJ% ADC12 %E(Eﬁzj‘ m
W S | ‘ an
| P —h With 2 bushes 2 45 i1 4l & Y
/ ! \\\
| ] B e
! /
| ’ © —
| T e © —-—
I @ in (1]
&Y 1o & i (77
CB L1 L
uB FL
uB FL L @01 L D2 ) MR oCD L1
3 Iy 325 2 165 2 125 65 55 11 30 10 10 5
40 53 3 2 52 2 16 65 55 11 35 12 12 5
50 65 465 3 0 i 16 9 65 15 0 1 12 5
63 75 55 0 70 3 2 9 65 15 15 16 16 5
80 95 7 50 9 36 0 1 1 17 45 1 16 5
100 15 89 60 10 4 i n 10 17 55 0 0 5
DNG 32-100 CA Male Clevis
£ o Material: ADC12 Die Casting
EW 5 é
8 o . =]
O\\ . FE: ADCI2 FR 4
e With 2 bushes 275 JH 1 25
1‘ R
i é
o | N
S
1 X
r J‘ %
S
2
L1 L
O[MM] E 16 W FL L L4 oD D2 MR oCD L1 oD
3 &7 325 2 2 125 55 65 11 10 10 5 3
0 53 3 23 2 16 55 65 11 12 12 5 35
50 65 465 3 i 16 65 9 1 12 12 5 40
63 75 55 40 3 2 65 § 14 155 16 5 45
80 % 72 50 % 2 10 11 7 16 16 5 45
100 115 89 60 6 i 10 11 7 i 0 5 5




I BANGYE

S 26§5108I

(1)
m—
| |
(1
N

DNG 125-200 CB Female Clevis
XEJEE

L4

Material: ADC12 Die Casting

TG S %
=i W ADCI2 45555
D) osl {}\ g
e | y‘* With 2 bushes 352 i1l &
/ . \ \\\ ‘
. |
CA wl @ I —— g | é
. g \ | / |
i, s P R ol ®
% 5 J @ XXX =
) . . CB ] L
uB FL
E cB uB L4 L oD1 oD2 oD ocD L1 FL MR
125 110 140 70 120 10 30 1 0 40 5 7 50 5
160 140 180 90 169 10 % 18 % 65 30 8 5 %
200 175 yall 90 169 il % 18 % 7 0 10 60 %
DNG 125-200 CA Male Clevis
Material: ADC12 Die Casting
E L4 L
TG -
EW 8 g KT ADCT2 4545
D e = ~
) © S With 2 bushes 55 £5 JH il &
i = S
= Q ,/:7 7177\7\, }
/
- g w2 B [ — 8 |
@ T |
- ] ~ 'l &
- F Vi o
@/ \@J -
FL
O[MM] 16 E EW L4 L oD1 oD2 oD ocD FL L1 MR
125 10 10 70 10 0 1 bl 60 5 50 7 2%
160 140 180 90 10 % 18 % 65 0 5 8 25
20 175 m 90 n 3% 18 % 75 30 40 10 5




RIBANGYE

DNG 250-320 CB Female Clevis
E [

|
(T
. _ Material:47100 Gravity Casting [ — )
TG S La § = —
M- U 47100 HE o e
N RE R ik Yel X,
A With 2 bushes 25y dil & PY
* 7
. WECEH ~
N N
TR D
& J @ XXX — =
c A <
uB FL m
L L4 on1 o2 oD oD FL MR
50 0 m 10 20 I 17 7l 2 90 40 70 4
30 yi[i 350 120 mw 50 n 25 3 10 45 80 i
DNG 250-320 CA Male Clevis
EAE[RE
. o Material:47100 Gravity Casting
G - N
. Ew 8| % B : 47100 T b
7r,‘ﬁ
\ ﬁ} T With 2 bushes 2% i 41 &
T _
e VAR I *
BN I Y
ST | %
~_ r{
T L1 ‘
) s
& \& :
L4 | f’
L4 oD1 oD2 oD oD FL L1 MR
50 yrll m 10 45 17 N ki 90 40 70 1 4

320 210 350 120 a0 2 % 37 110 45 80 1 45




RIBANGYE

DNC 32-100 CB Female Clevis
XE E

L
(J ] . o Material: ADC12 Die Casting
= - § B ADCI2 R B
_— NN Q DL Sy a7
_ @ @ 3
an N2 N/ s
A ca - S
|
1 L = |
N ﬂ e S | )
. B2 - \
o - o
. - LI 2
(1-] B m fe | ou L \73
- S &
14 us L
N
uB 16 E L D1 ®D2 L4 ®D ®CD L1 MR
5 325 £5 13 65 105 6 10 10 5 10
40 2 52 3 54 14 65 105 6 3 12 5 12
50 1 60 465 b 16 85 135 8 i 12 5 12
63 40 0 565 75 2 85 135 8 65 16 5 16
80 30 90 72 93 2 105 165 1 45 16 ] 16
100 60 110 89 M3 27 105 16.5 1 % 20 9 20
DNC 32-100 CA Male Clevis
e L Material: ADC12 Die Casting
TG L4 L
. = 5 BEIST: ADCI2 §E
L= |
% ) :
] S
. &
a | g
8 | |
w %
L4 FL oD ®CD L1
6 2 Kl 10 5
40 513 3 2 14 65 105 6 2 3 12 5
0 b4 485 32 16 85 135 8 27 40 12 5
63 75 969 40 2 85 135 8 3 45 16 g
80 93 72 0 2 105 16.5 M 3 45 16 5
100 1.5 89 60 2 105 16.5 1 41 64 20 9




LNG 32-200 Square Hinge
BEREEE

RIBANGYE

Material: ADC12 Die Casting
BT ADCI2 FRE

B[MM] 32 40 50 63 80
BR 10 il 13 19 15 19 2 3 3
BT 8 10 12 14 14 17 20 % Rl

Ck@) 10 12 12 16 16 0 2 30 Rl

S 2665108l

D
q
I
1.
N

- & E— Moo% 8 % W W 0 0 W 9%
—— === oL W B ¥ 4 S W90
= —]-—r 8 - O 66 66 9 9 M M W W
S L 16 16 16 16 25 25 3 &k
PH 32 3% 45 % & 7 % 15 0%
EA E
oHB RA B 2 W B W 0 60 8 %
% 4 W R & 6 % 18 I
3 5 WS s s e 8 % 1 1% 1
m 0 W 31 3B & 0 0 7m0 1% 1%

SNCS 32-200 Male Hinge With Ball Joint

RATEE

E
G
EP
NG
\ &
w| O ﬁ‘/— ~— —\F

& )
& || &

EX

EA 10 15 16 16 20 20 30 36 40

Material: ADC12 Die Casting
BB ADCT2 4R %

@ 10 12 16 16 20 20 Rl 3 3

(@) Rl 3 40 45 45 % 62 65 75

01@) 65 6.5 9 9 1 1 13 18 18

L - D2@) 105 105 15 15 18 18 20 26 26

P oL 2 2 27 3 36 41 30 % 60
— E 45 32 65 75 % 115 140 180 220
5 i EP 105 12 15 15 18 18 Vi) 28 28
8 } - EX 14 16 21 21 2 % 37 43 43
! 1 5 5 5 5 5 5 7 7 8

] % L4 99 99 6.9 6.9 10 10 10 10 M

I N MS 16 18 2 23 28 Rl 40 45 48
é L4 8 16 325 38 465 965 72 89 110 140 175




I BANGYE

S 26§5108I

(1)
m—
| |
(1
N

DNG 32-200 FA/FB Flange
A=

UF

Material: ADC12 Die Casting

M

TF

TG

+O 06

ADC12 %5 JE 45

- a
- Q
2 e w
%
=0 =
77{,
32 40 50 63 80 100 125 160 200
30 3 40 45 45 % 60 65 75
D1(0) 6.9 6.5 9 9 1 1 13 17 17
02(0) 105 i 15 15 18 18 19 25 25
E 43 32 65 75 9% 115 140 180 220
FB(O) 7 9 9 9 12 1 16 18 2
L 5 5 65 65 9 9 105 95 125
MF 10 10 12 12 16 16 il il 5
R 32 36 [ 30 63 73 90 115 135
TF bh 7 90 100 126 150 180 230 270
16 25 38 445 565 7 8 110 140 175
UF 80 90 110 120 150 170 205 260 300
DNG 32-320 FA/FB F[ange Material: Steel with Zinc Plating
N el -
IE=HR A 45 S
UF
TF MF
‘ TG ‘ L4
2 7 (g
2 SSCD © || i
8
‘?
- P w
ht a’ %
SN i
L
B[MM| 32 40 50 63 80 100 125 1] 200 250 320
0@ 30 3 40 45 45 % 60 65 75 90 10
010) 6.5 6.9 9 9 1 1 13 17 17 21 25
02(0) 105 n 15 15 18 18 19 25 25 31 37
E 4o 32 65 75 99 119 140 180 220 210 340
FB(0) 7 9 9 9 12 14 16 18 2 26 3
L4 5 3 6.5 6.9 8 8 105 9.5 125 105 15
MF 10 10 12 12 16 16 20 0 25 25 Rl
R 32 3 4o 30 63 75 90 115 135 165 200
TF bk 72 90 100 126 130 180 230 270 330 400
16 325 38 465 55 7 8 110 140 175 20 270
UF 80 90 110 120 150 170 220 280 320 390 470




LI BANGYE

DNG 32-100 LB Foot Mounting

IS —
TG Material: Steel with Zinc Plating [ —)
‘7 [
MR A3 <51
AT
. — 3 T,
N
=y I N N -
3 (D N N
-
Q
e r——’ﬂ 8§ o (T )
] T N — 1)
TR AU =.
: (1]
O[MM] 16 L1 16/2 0AB AH E AT L7 BAC A0 AU R2 wn
ki 25 ki 1625 7 ki I 4 0 7 I 2% 15
40 3 36 19 10 3 52 4 30 7 8 28 175
50 45 65 325 10 I 65 5 3 9 15 kY i
63 965 30 2825 10 30 75 5 3 9 13 32 225
80 72 63 3 12 63 99 b 47 1 14 41 225
100 89 75 445 14.5 7 115 6 3 1 16 41 215
DNG 125-200 LB Foot Mounting Material: Steel with Zinc Plating
balz) o
IS P A3 SR
E
TG % AT
S/
E
C 0 TT
N b
:
<
‘ OAB Q AO
[ [ ] 7—;‘
‘ TR ‘ AU
O[MM] 1] OAB i E AT OAC L7 AU A AH T6/2
125 10 16 90 140 8 125 % 45 20 90 %
160 140 18 115 180 8 16. 75 60 20 115 70
200 175 2 135 220 9 16 90 70 Rl 135 875
DNG 250-320 LB Foot Mounting Material: Steel with Zinc Plating
palz| o
finZE BT Aok AR
}
E
TG S AT
9
Z
@) g :
\\ —
O]
DAB é &H‘
[ 1 [ [ 1]
‘ TR ‘ AU
E AT OAC L7 AU A0 AH T6/2
270 20 2 110 75 3 165 10

30 210 3 200 350 23 2h5 100 85 40 185 135







' 1S021287 Series

SRS

=
» SELBfF4




LI BANGYE

ADN 12-25 Cylinder Cover

Silinss
|
W Material: 6061-Té
(— ) : -
rO ) - : I W R
— s+ & . - -
“ S . ' - ‘
- |
W
= 2 t 0 L
| c \—E—\
—U T =
) D 4 1 [ a
m \&y Lij;L» G) tl:fE
_E_
do . BENE: o o
Q
W Y S
> ! N SZinw :
c D E F K L oM N oP
16 275 5 M5 2-MA4 115 2-075 45 2-B45
16 18 29 55 M5 2-MA4 15 2-075 45 2-B45
20 2 355 b M5 2-M5 125 2-09 59 2-055
25 26 395 b Mb 2-M5 135 2-09 99 2-055
ADN 32-100 Cylinder Cover
Stlins
Material: ADC12 Die Casting
e e L MR A S
- . i .
= «
NG b aa——
adh o il
@ =

B[MM] A B (¥ D E F K L oM N opP
3 325 38 17 475 78 G1/8 4-Mb 153 4-075 43 4045
40 38 4o 21 965 72 G1/8 4-Mb 15.25 4-09 99 4-05.5
0 465 b 2 665 72 G1/8 4-M8 15.25 4-0103 65 4-62
63 365 66 37 795 72 61/8 4-M8 15 4-0103 6.3 4-06.5
80 72 84 47 100 8.9 G1/8 4-M10 16.5 4-0133 8.5 4-085

100 89 101 60 120 10 G1/4 4-M10 205 4-p16.2 105 4-0105




I BANGYE

ADN 12-25 Cylinder Piston

SELEE —
5 c Material:  12-25 6061-Té [ —
* o M RS N
) —
e ~
(- -]
J =z ~3
(1-)
NM] A EB 15 15 = .
, (1-)
1 M5 8 1 15 15 PT
0 M6 10 13 15 15
25 M6 10 13 15 15
ADN 32-100 Cylinder Piston
SELEE
ac Material:  32-100 ADC12 Die Casting
‘ﬁ S M ADCI2 AR
“ [m)]
LI w
&Q; \ o8B
— oA
o[MM] oA B C D E
2 % 8 1 54 25
40 3% 8 0 6 25
50 i3 10 A 6 25
63 55 10 10 84 25
80 7 1 58 94 25

100 90 14 77 109 29







PART 1ISO6430 Series



RIBANGYE

NSC 32-250 Cylinder Cover

/= pYuE]
Stlimes
w 5 Material: ADC12 Die Casting
S ' WBT: ADC12 48 E 55
O~
o~ x
o L g
[ — ) N
C
h: QE’%/“I M
= e
I N
D M
(7 —
1 X /X
[e]
o || A
24
@G
QE;’;)?H H|
G
H L N F P R (] (] 6D ] ] ]
k) 45 3 65 95 05 485 13 15 4 65 G1/8 65 8 35 775 M6075
40 50 37 65 95 25 485 1 15 6 88 6 1/4 5 3 35 775 M6075
50 62 47 65 95 25 185 15 15 7 10 G614 4 38 35 275 Me*0T5
43 75 5 85 125 25 485 15 15 8 85 63/8 3 38 35 775 M6075
80 9% 70 105 155 55 60 17 7 10 1 638 7 47 3 3 ME0TS
100 12 8 105 155 255 40 17 2 1 1 G172 65 47 39 B M5
125 136 104 123 206 305 655 20 20 1 1 612 65 5 455 B/ M
160 174 134 165 2 305 73 2 25 15 15 634 5 62 48 B MM
20 24 163 165 v 305 78 2 30 15 15 634 3 62 48 38 M101

250 267 202 21 3 38 % 255 3 2 2 61 8.9 86 60 48 M14*1.5




RIBANGYE

SCE 32-100 Cylinder Cover
Silimzs

Material: ADC12 Die Casting
M ADCI2 45 )E4%

S 0€790SI

(1-)
—y
I
D
N

L N F P R 0 a oD M (1 B
32 45 3 6.9 9.5 225 485 128 15 4 6.5 618 8 28 335 2775 ME0T5
40 0 3 6.9 99 225 483 14.5 15 b 85 G 1/4 g 32 335 215 M60T75
0 62 47 6.9 99 225 485 15 13 8 9 G 1/4 4 3 335 275 ME"075
63 75 36 85 125 225 485 15 15 9 8.5 638 4 3 333 213 ME*075
80 9% 70 105 139 255 60 17 21 10 14 638 7 47 ¥ 3 M6*0.75
100 112 84 105 133 253 60 17 21 1 14 G172 7 47 ¥ 3 M6*0.75

NSC/SCE 32-100 Cylinder Piston
SELEE

Material: ADC12 Die Casting
BT ADCI2 4555

2D
2G

ac E F 06
8 26 66 315
40 20 16 10 2 7 393
0 28 20 12 2 Th 495
63 28 20 12 WA 77 623
80 3 2 16 Rl 90 795

100 3 2 16 36 9% 995




RIBANGYE

SC 300 Cylinder Cover
Sl

L Material: 47100 Gravity Casting

BT 47100 T G Hs

2D

S 0€790SI

®
—
I N
14
N

=

)
By 5N
G
L N F P R 0 (] (] M 6 B
300 390 m 3 43 3% 121 2% 60 7A] 7A] G 0 % 81 W MIE15
SC 125-300 Cylinder Piston
=ET3 o
_\JHIE% o8B
ac
Material: 47100 Gravity Casting
- FIT: 47100 F R pEEE
m
T
2B
2D
2G
O[MM] [} 0B oc E F 06 H
125 40 n 0 2% 84 1245 n
160 50 40 2% 0 9% 1595 %
200 50 40 2% 0 100 1995 k]
250 57 50 0 k] 13 2495 9]

300 785 70 36 42 132 2995 48




RIBANGYE

SC 400 Cylinder Cover

Sitlimss -
(T£]
[ —
s L Material: 47100 Gravity Casting O~
= G- o~
N FEBR: 47100 FEHE e [

Q
K | —J
I dme Y

| L

(1-)
—y
I
D
N

400 430 350 31 43 45 180 3 90 3 3 61 10 128 100 70 M14*1.5 10 128

SC 400 Cylinder Piston

SELEZE

Material: 47100 Gravity Casting
BT 47100 B Lk e4s

O[MM] oD 0B ac E F 06 |
400 9 80 42 90 210 3992 70




RIBANGYE

S 0€790SI

®
—
I N
14
N

NSC 32-100 CB Female Clevis
XE [

Material: ADC12 Die Casting

5. ADC12 45 45

@D1
|

,_
@D2

1
|
|
[a) |
] ||
|
|
e &%
LL ©
L
FL
[1]1] och L1 FL MR
2 12 45 19 15
. ; . N 1 45 19 125
50 47 61 203 52 9 65 6.6 1 39 14 42 19 13
43 5 74 203 5 9 65 9 15 k1] 1 42 19 13
80 80 9% 13 8 18 10 1 18 48 0 45 i 175
100 84 111 323 6L 18 10 1 18 48 20 L5 32 18
Material: 125-200 CB ADC12 Die Casting
. 250 CB 47100 Gravity Castin
NSC 125-250 CB Female Clevis !
WEEE M1 J5T: 125-200 CB ADC12 45 K 4%
B EE 250 CB 47100 T ekt
E s
/ ! TG ! \\ é 0~L4 8
, @} 0E¥90SI ﬁ@ -
UB
cB ¥
w (,2 _
E-
©
1 @ XXX @
&J \&) 7
L]
FL
L L4 oD1 (1]173 och FL MR
14 13 125 206 205 n 20
160 13 173 40 80 20 15 165 % 28 40 0
200 18 M 40 80 k1] 18 165 % 2 40 0
0 m 26 50 100 i 19 2 k) % 70 %




RIBANGYE

NSC 32-100 CA Male Clevis
EREE

|
Material: ADC12 Die Casting :
PR ADCI2 RS o~
o~
E FL w
TG s L4 [ — )
Q| —=
W“ Q P 8 (T )
= 7 MRS @®
—
—H 1]
| (1]
wl @ 8 || (7
|
|
u
(D) )
S 2 -
L
L4 o1 o2 oD ocD L1 FL MR
n 3 45 16 yA] 55 66 105 ki 12 45 % 15
40 37 495 0 5 55 66 105 k5| 14 45 3 125
50 47 81 20 2% 65 ) 1 k] 1 45 3 13
63 56 7h 198 2% 65 9 15 3 14 45 3% 13
80 70 9 318 3 10 1 18 48 2 45 18 175
100 84 m 318 3 10 1 18 48 2 45 48 18
NSC 125-250 CA Male Clevis Material: 125-200 CA ADC12 Die Casting
250 CA 47100 Gravity Casting
e
KA 125-200 CA ADC12 45 IR 44
250 CA 47100 5 Ht 13 4%
E
| - |
,@ﬁ 0908 ﬂ@
EW
w e
Gf o \O)

FL
L4 D1 oD2 ocD FL MR
125 104 135 32 14 13 125 205 0 32 0
160 134 173 40 20 15 165 % 28 40 28
200 163 2713 40 37 18 16.5 25 2 60 Rl

250 202 266 0 4o 19 21 3 36 70 36




RIBANGYE

SC 32-250 FA/FB Flange Material: Casting Steel
N 2L
IZ=1R M ek
|
m UF MF o
(— — ®
o~ & © e =
(—) . .
¢ 1
(7R 1 J[:ii,,
=, Zall
D T | S DL 8
m TF . L4
0FB 06 OH L4 MF (]
32 3 47 33 58 72 7 105 65 35 10 29
40 36 93 37 70 8L 7 105 6.5 35 10 33
50 47 65 47 86 104 9 105 6.5 35 10 39
63 36 75 56 98 116 9 135 85 25 1 39
80 70 95 70 119 143 1 165 105 99 16 48
100 84 115 84 138 162 1 165 105 39 16 48
125 104 135 104 168 196 14 19 13 7 20 93
160 134 173 134 212 248 18 25 17 105 20 63
200 163 213 163 290 286 18 25 17 135 25 63
290 201 253 202 312 356 22 3 2 13 29 87
SC 32-200 FA/FB Flange Material: ADC12 Die Casting
N v
E=1R B ADCI2 B SE
UF MF o
s
() () .
D © & D =]
i w x 8
N
(D) iGN !
& @ O LA
| |
R g
TF ] L4
UF OFB [ OH L4 MF oD
32 3 47 33 98 72 7 105 6.5 39 10 291
40 36 92 37 70 84 7 105 6.9 39 10 331
30 47 65 47 86 104 9 105 6.9 39 10 391
63 36 75 36 98 116 9 135 8.9 6.9 12 384
80 70 9 70 119 143 1 165 105 9 16 48
100 8L 115 84 138 162 1 165 105 9 16 48
125 104 135 104 168 19 1 19 13 12 ij| 53
160 134 173 134 212 248 18 25 17 105 20 63

200 163 213 163 250 286 18 25 17 153 25 63




RIBANGYE

SC32-100 LB Foot Mounting

pajs]
| —
i . . . . . h l
6 Material: Steel with Zinc Plating [ —)
v
& B A4 l
P, e
o [ — )
T T ]
TR | AU |_ Ao | N
E (1-]
i
I
16 E AT L7 (1] A0 AU R2 D
B 3 2 13 7 1 50 12 20 9 95 205 15 (7]
40 3% 30 125 7 37 57 32 2 12 145 235 17
50 47 35 135 7 47 48 3 2 12 12 28 2
63 5 Al 14 9 5 80 3 2% 12 13 31 2
80 70 49 1 1 70 97 4 30 1% 1 30 2
100 84 7 165 14 84 12 4 30 14 18 30 25
SC125-200 LB Foot Mounting Material: Steel with Zinc Plating
frze W A
TG AT
D17 911
DAB
T T © B T T ‘
TR AU ‘ AO ‘
E
E AT L7 OAB AU A0 AH
136 4 40 17 35 18 70
160 134 17 2% 134 174 8 50 17 40 2 91
200 163 17 3 163 24 9 40 2 50 2 1135
SC250-400 LB Foot Mounting Material: Steel with Zinc Plating
fize W A
TG AT
o L]
z /g%’/ ) |
N S L
O]
T T T T T o T ‘
‘ ‘ TR ‘ ‘ AU ‘ ‘ AO ‘
E
c 16 E AT L7 OAB AU A0 AH
40 202 27 15 70 2% 40 2 161
300 202 3 45 yajl] 330 15 105 33 90 40 200

400 350 3 110 350 430 20 150 33 115 40 285







JIS Series




RIBANGYE

MB 32-200 cylinder Cover Material: ADC12 Die Casting
— 2
: Sl B ADCTL RS
I .
o R—
T y
(1-]
q
. N
D
N
@G
QE’\"‘FH H
N

O[MM] P
32 325 4b 6.9 92 225 46 12 13 4 6.5 61/8 95 295 33 2 M6*0.75
40 38 32 6.9 92 225 4b 14 13 b 9 G1/4 99 345 33 27 M6*0.75
30 485 65 85 125 225 913 135 14 5 105 G4 6.7 395 375 315 M6*0.75
63 365 75 85 125 225 913 165 14 9 12 63/8 49 3135 313 M6*0.75

100 89 114 105 139 253 b4 19 20 17 13 6112 36 bk 3 M6*0.75
125 110 140 13 19 2 n 2 245 14 14 6172 61 475 40 M10%1
160 140 180 165 2 36 100 26 38 20 20 G4 10 66 62 0 M10%1
200 175 220 165 2 36 100 2 3 0 0 G4 12 76 62 0 M10*1

4

80 72 99 107 135 255 6k 19 20 13 14 63/8 7 bl [ 38 M6*0.75
7
6




RIBANGYE

MB 32-100 Cylinder Piston Material: ADC12 Die Casting
(=ETEZE
SELAE B ADC12 4EIEAS e
I
E F G E m
N N
] ®
—_
i ®
ool | __ | g Iix 4 __ ]l oo
SIES [SIESIEERNES] SIS m
vV
L o J
E F 6 OH J oK L M
i 7 7 35 i 2 25 15
0 i 16 10 i 7 7 05 i 2 3 2
50 i 20 12 2 8 7 495 1 1 375 15
6 2 20 12 2 8 7 625 k] i 3 2
il ¥ % 16 10 I I 795 4 5 Iy 2
100 3 2 16 1 1 1 995 63 8 485 15
MB 125-200 Cylinder Piston
[=ETSESE
_\;ﬁllﬁﬁ
= Material: ADC12 Die Casting
BT ADCI2 $RHES
S
G - - SEE
7
oc oD E F 6 OH
125 0 K 16 1 4 1 1245
160 50 40 165 3 50 122 1595

200 30 40 165 4o 30 122 199.5




RIBANGYE

XEE

—
;)
w

MB 32-200 CB Female Clevis

@D1

Material: ADC12 Die Casting
FHTc: ADCT2 5R 4%

1) ] &
- i
[ ] | i
ﬂ g } i é .
@ i A
w1 ’
L
L L& (1]17] oD1 (0]} och FL L1 MR
32 46 325 28 1k 13 6 105 65 305 10 23 45 105
0 52 Kl 28 1h 13 6 105 65 35 10 3 L5 l
50 65 165 0 20 1 B 1t 9 105 1t Kl 15 15
63 75 55 0 0 1 B 1h 9 165 1 Kl 45 15
80 9 7 60 N 2% 1 1 1 505 2 12 45 3
100 114 89 0 gl 2 1 1 1 555 2 ) 45 2
125 160 10 130 7 Kl 10 0 1h 60 2 50 7 %
160 160 140 169 9 3 10 2 18 65 Kl 5 B %
20 m 175 169 9 % 1 2 18 75 0 60 10 %
MB 32-200 CA Male Clevis
B
= . o Material: ADC12 Die Casting
=] I B S
& = © o BHB: ADCIZ SFUERS
4] $
e
Jol| L B o i | &
; \ / 1
A C S J r %,
L1
@ MB XXX (e) B
L
0D2 o1 oD och FL L1 MR
2 16 25 n 13 6 105 65 35 10 2 45 105
0 57 3 1t 13 6 105 65 35 10 2 45 1
50 6 b5 0 1 8 1t 9 105 1t ] 45 15
6 75 55 20 7 8 14 9 165 1h ] 45 5
80 % 7 N 2 10 1 1 505 n 1 45 23
100 114 89 ] 2 1 17 1 555 7] 1 L5 23
125 140 110 70 3 10 0 1t 60 %5 50 7 %
160 180 140 9 % 1 2 18 6 ] 55 8 2
20 m 175 9 % 1 % 18 75 Kl 0 10 2




RIBANGYE

CA2 40-100 Cylinder Cover

— Tl Material: ADC12 Die Casting
Sl

M ADCI2 45 45

S SIf

M 1 ®
e =
ol .
T ®
AL (7
D|_C K
G

)

0
40 i 0 15 4 95 5 Vi £ ki 10 B MEOTS GIE 5 85 125 15 4
50 2% % 7 45 9 65 30 485 40 10 45 ME075 G386 85 15 n 70
63 ¥ooos 7 55 N5 65 3 &7 40 10 £ MeOTs G386 05 B85 B5 6
80 % 51 2 7159 k1 57 52 14 S Mg07s G127 125 185 %102
[LIUT) 58 2 7 By 9 40 40 5 1 56 ME0T5 G128 25 185 % 116
CA2 40-100 Cylinder Piston
(AT ESE
_LEI/E%
E D E Material: ADC12 Die Casting

M ADC12 45 JE 4%

Q88— —1-— 1 —-—T 8§88
L
oc D E F L
0 16 10 20 18 05 20 58
50 0 1 2 19 495 2% 67
63 20 1 i 2 625 2 72
il 2 16 30 30 795 30 il

100 Rl 16 3 3 995 Rl 9%




RIBANGYE

S SIf

(1-
m—y
I N
(1.
7

CA2 40-100 CB Female Clevis

XELEE

Material: Casting Steel

W ek
TG
UB FL
5
/7 CcB J\ (DOO
o
Z
fer| 27"
4
E L
CB UB D1 FL MR L
40 60 b 10 15 295 M8*1.25 30 10 16
50 70 52 12 18 35 M8*1.25 35 12 19
63 85 bl 16 25 49 M10%1.25 40 16 23
80 102 78 20 315 61 M12*1.75 48 20 28
100 116 92 25 355 64 M12*1.75 58 25 36
CA2 40-100 CA Male Clevis Material: Casting Steel
A
FEEE M ek
FL
o :‘:
L
D1 FL MR L
40 60 b 10 15 MB*1.25 30 10 16
50 70 52 12 18 MB*1.25 35 12 19
63 85 bl 16 25 M10%1.25 40 16 23
80 102 78 20 315 M12*1.75 48 20 8
100 116 92 25 355 M12*1.75 58 25 36




RIBANGYE

CA2 40-100 FA/FB Flange
IA=IR

h
|
FX . . u ,
o Material: Casting Steel Y,
& N2 =,
14
s go  F N
S
\*J
‘ ‘ AT vy T
74 FT
FD J FT ) FX FY Fz
40 L N 9 M8*1.25 12 60 80 42 100
30 32 81 9 M8*1.25 12 70 90 30 110
63 6l 101 113 M10*1.25 15 86 105 59 130
80 78 19 133 M12*1.75 18 102 130 76 160
100 92 133 135 M121.75 18 116 150 9 180
CA% 40-100 TC Trunnion Flange Material: Casting Steel
E o
chEJfE4H MR
v
]
1T
J m X Y 17
40 60 bk 15 M8*1.25 2 85 62 n7
30 70 32 15 M8*1.25 2 95 Th 127
63 85 bk 18 M10%1.25 28 110 90 148
80 102 78 25 M121.75 3k 140 110 192

100 116 92 V4] MI1Z2*1.75 40 162 130 214







PART 1SO6432 Series



RIBANGYE

M1 8-25 Cylinder Cover
(=T
— _\,ﬁlﬁﬁ'ﬁm
= B F Material: 6061-T6
C
=S
o . 3 MR A
N
w “ - T8
D .
q /W A_[(A
] ] ‘ G
(1] )
(7,
oA B c oD E F 6 L
8 M12:125 12 M3 8 15 10 6 25
10 M12:125 12 M5 10 15 10 6 265
12 M16*15 17 M3 12 18 125 8 355
16 M16*15 17 M5 16 0 125 8 355
2 M22*15 0 G118 0 2% 15 8 05
5 M22*15 n G1/8 25 30 15 8 15
B F Material: 6061-T6
H ‘ C_ E
- . O
L J:T G — %’N X ME: FE5A
< +— Q w| L J[ -
L/ S .
G J
L
0A B c ] E F 6 H J oK L
8 M12*125 12 M3 8 15 95 5 10 8 4 %
10 M12+1.25 12 M5 10 15 95 5 10 8 4 %
12 M16*15 7 M5 12 18 105 6 14 12 6 35
16 M16*15 17 M5 16 0 105 6 13 12 6 35
i M22°15 0 G 0 % 15 8 I 1 8 415
25 M22:15 n G1/8 5 Rl 15 8 I 1 8 145

Note: MI 8-25 Pistons are available

FTE: MIS-25 VEZETR TN




LI BANGYE
MIC 20-25 Cylinder Cover

SilimzEs

Material: 6061-Té
g ERAUAL

(¥, )
[ — )
O~
o~
[ FL)
N
(T )

< _
D
i
I
(1-)
L (7]
O[MM] 1]} B C [1]1] E F 6 ] L
20 M22*15 G1/8 15 20 8 20 i M3 415
25 M22%15 G1/8 15 25 8 2 30 M3 Lb5
L Material: 6061-Té
M c H
L | FEBR: SRR
| ! | D W |
Foy i
[ + wl oo _ + B 5
| | Q
BRI m |
oK | | la |
G E
O[MM] A B c D E OF ] H J oK L M
20 M22*15 G1/8 15 M3 8 2 20 2% 16 8 415 11
25 M22*15 G1/8 15 M3 8 25 2 30 16 8 U5 11

Note: MIC 20-25 Pistons are available
FTE: MIC 20-25 FEFERT T I




RIBANGYE

MI/MIC 8-25 SDB Cylinder Mounting
ST U B

N

[ — ) .

a -

& (&

N

N

m E A

=, T

A @ | (=
| man I e an )

: -

MI/MIC 8-25 FA/FB Flange
iE=1R

Al

8y

i
|
D

>

MI/MIC 8-25 LB Foot Mounting
fhZR

A1

Material: Steel With Zinc Plating

T A3 BN

BIMM] 8 10 12 16 20 25
A 8 8 12 12 16 16
B 2% 2% 7 27 30 0
C 45 45 55 55 64 64
D 13 13 18 18 2% 2%
E 1 1 13 13 16 16
£l 4 4 6 6 8 8
F 125 125 15 15 i) 0
6 il )| YA 5 kY] &)
H 25 25 3 3 4 4
Material: Steel With Zinc Plating
B A3
B[MM] 8 10 12 16 20 25
A 3 3 4 4 5 5
Al 12 12 16 16 n n
B 40 40 53 53 ) 46
C 0 ¢l 40 40 50 50
D yA 5 ¢l 20 40 40
E 45 45 55 55 66 66
Material: Steel With Zinc Plating
M A3 AT
BIMM] 8 10 12 16 20 25
A L5 45 55 55 b4 )
Al 12 12 1 16 2 n
B 3 3 4 4 5 5
C 1 1 14 14 17 17
D 16 16 i) ) yA) 5
E % % 42 42 54 54
F P 5 R £) 40 40
6 16 16 )| )| 5 5
H 10 10 13 13 2 )|




PART MAL Series




RIBANGYE

20

2
32
40
30
63

A
M16*1.5
M221.5
M22°1.5
M24*2
M30%2
M36*2
M36*2

MAL 16-63 Cylinder Cover
Sl

Material: 6061-T6

OE

\
!
oH
B
t
]
|
|

B (¥ D BE
M17*0.75 M5 5 6
M22*0.75 61/8 8 8
M27*0.75 61/8 8 8

M34*1 61/8 8 10
M42*1 G4 1 12
M52*1 G1/4 1 14
M64.5*1.25 G1/k 115 12

BB SR
OMM] A B c D E L H
1 MIgS MO Ms 00 18 35 23
2 MRM5 MRS GBS 6 12 W W
5 M5 MZPOTS G 6 Tk X 3%
2 M7 MW GIB 6 h ¥
WM M1 G 2 W
50 M2 M1 GWA 2 W S5
63 M3 MELS G B 0 56 T
e — Material: 6061-Té
FB: SRR
IS
I-D |
L
F 6 ol J K L
10 18 23 7 17 35
16 2 vy 9 18 b
16 2 3 9 18 b
16 i 3 1 18 52
2 7 & 12 i 60
2 7 59 17 i 61
23 i 72 13 20 63

Note: MAL 16-63 Pistons are available
F5VE: MAL 16-63 T ZETT T I




RIBANGYE
MAL 16-40 SDB Cylinder Mounting
ST U s

Material: Steel With Zinc Plating
W A3 HEE R

] OIMM] D 0 CF cH T cP

16 16 3 2 0 25 55

0 2 18 ) 2 3 65

6 5 21 18 2 2 3 65

w 5 ) 7 5 % % L 65

: ; : _ 1 \*‘:‘_‘ﬂ* 40 7 5 40 40 4 65

cD

MAL 20-40 FA/FB Flange
IE=HR

Material: Steel With Zinc Plating
M A3 BT

; @ O[MM] BB BC ]] DE BF ]
% 0 4 3 - 6k 0 6.9
oy % 4 3 = 6k 90 6.9
32 4 47 33 7 a8 6.9
ol 40 4 30 36 84 70 6.5

@32-40

MAL 16-40 LB Foot Mounting

An
fHIZE
Material: Steel With Zinc Plating
M A3 ST A
® o
7 OMM]  OA1 AW AF AE  OAP AT R AQ AL
16 162 20 kY bk 55 3 13 6 13
I
< 0 22 5 40 5 65 3 17 8 15
. . . 3 242 3 I 59 65 § 19 8 5
AF AL AQ
AE 40 303 % 50 64 85 4 3 8 2%







PART

ROD END ACCESSORIES



LI BANGYE

Y Clevis B R
Y ElE \ =
= N —
(—) L7
— Material: Steel With Nickel Plating =
E B A3 AR ) @%‘;ti E[
g O[MM] NK NP NT NM NV NW NX ND
™ 12/16 Mg*1 6 12 6 12 3 2% 10
m 0 M8*1.25 8 16 8 16 @ R 14
(¥ ) 25032 M10%125 10 b 10 i 52 40 18
(Tg] 40 M12*1.25 12 2% 12 2% 62 48 2
— 50/63 M16*15 1 k) 16 kY 83 6l 2%
E 80/100 M20%15 2 40 bl 4 105 80 %
m 125 M27%2 Kl 5 Kl % 148 110 @
(J ] 160/200 M36*2 % 7 % 70 188 1k 60
250 Mi2+2 40 8 40 8 m 168 70
30 Mg*2 50 % 50 9% 25 192 80

Rod Eye
ARk

Material: Steel With Nickel Plating
BT A3 ANEEER

B c D E F 6 H

88 12 4 27 6 8 5 1 ML<0.7 36 9 10

5 18 8.5 12 [ 2 6 8 5 1 M5*08 36 9 10
6 20 10 13 3 Rl 7 9 6 127 M6*1 40 n 12
8 24 125 16 3 3 9 12 8 15875 MB*1.25 48 14 16
10 28 15 19 6.9 43 1 14 10 19.05 M101.5 B 17 20
10-1 28 15 19 6.5 43 N 14 10 19.05 M10%1.25 B 17 20
12 3 175 27 6.5 30 12 16 12 22225 M12°1.75 66 19 2
12-1 3 175 2 6.5 90 12 16 12 22225 M121.25 66 19 2
Th 36 0 % 8 97 14 19 14 254 M1472 76 2 %
14-1 3 20 % 8 7 14 19 14 254 M14*15 76 2 %
16 40 2 27 8 b4 15 21 16 28575 M1672 85 2 2
16-1 40 2 2 8 6k 15 2 16 28575 M16%1.5 85 2 2
18 4b % 31 10 7 17 23 18 3175 M181.5 9% 27 30
20 50 215 3 10 71 18 2 20 34925 M20*15 102 ki 3
27 % Kl 37 12 84 20 28 2 381 M221.5 112 2 3
2 60 3335 42 12 9k 2 31 2 4285 M24*2 124 36 36
28 66 3 4b 14 103 2 3 28 476 M27*2 137 41 3l
30 70 40 0 13 110 2 k) Rl 308 M30%2 145 41 3l
30-1 70 40 0 19 110 2 37 30 208 M27*2 145 41 3l
3 80 4b % 17 125 28 43 3 371 M36*2 165 0 36
40 102 3 69 19 142 3 49 40 66.6 M42+2 187.5 % 60

0 17 65 75 VA 160 49 60 a0 825 M4g*2 2185 65 65




LI BANGYE

| Clevis
| BUfEEsk
(=]
e Material: Steel With Nickel Plating
NF | N ND =
Ji: A3 EMEE4
e J JRi—— B WA m
U s B =
IR S—— ) ey —— =
ONC >
- [ e | R n
N =
\\L Jlf:jj,iii m
(¥
(¥, )
OIMM] NK NA NB NC ND NE NF NG [ — )
1216 M6*1 12 31 4 10 2% 12 6 =
20 M8*1.25 16 40 8 15 30 n 8 E
/32 M10*1.25 0 5 10 2 40 15 10 w
40 M12+1.25 2% 67 12 2 48 2% 12
50/63 M16*15 k) 89 1 yi| 84 n 16
80/100 M20*1.5 40 12 20 20 80 40 )|
125 M27*2 5% 155 0 55 110 50 0
Self-Aligning Rod Coupler
ST — —— N
FoaiEsk
NF Material: 0235 Steel
NK NH 4N_*G\ M KRN

|
b
uin

.

NB NC ND
NA
O[MM] NK NA NB NC ND NE NF NG NH
1216 M6*1 3 13 3 12 18 8 10 6
20 MB*1.25 3 2 6 18 2 12 13 8
25/32 M10*1.25 B 2 7 2 2 13 17 10
40 M121.25 64 2 8 24 2 13 19 12
30/63 M161.5 90 27 12 36 49 23 27 17
80/100 M201.5 102 3 13 40 93 28 3 2

125 M27*2 120 3 15 48 60 3 41 %










RIBANGYE | ST TN
gk B TV RS T 389 5

Add:No.389 Langong Road Jinshan Industrial Zone Shanghai China
Tel: +86 21 67276363

Fax: +86 21 67277272

E-mail: info@sh-bangye.net info@bangye-auto.com

Website: www.sh-bangye.com




